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SOLUTIONS:

Comprehension:
l. Answer the following questions:
Q.1. Why is it that the Langthrei plant has no bud?
Ans:- The Langthrei plant has no bud because the cow eats it up.
Q.2.What does the cow do?
Ans:- The cow eats the bud of the langthrei plant.
Q.3.Why doesn’t the cowherd tend the cow?
Ans:-The cowherd does not tend the cow because his mother doesn't cook food
for him.
Q.4. What does the mother do?
Ans:- The mother doesn’t cook food.
Q.5. What happens because of the rain?
Ans:- The firewood becomes wet because of the rain.
Q.6. What happens when the frog croaks and why does it croak?
Ans:- When the frog croaks it rains and it croaks because of the approaching
monsoon.
Q.7. Write what you think of the poem in the question and answer form.
Ans:- When we examine the poem written in the question and answer form,
we think that it is a dialogue and an answer giver. Although the poem is

in that form he has arranged it systematically.
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